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4\ SSC CPO/CHSL/CGL TIER 11 2023 1000 QUESTION SERIES

47 6 5.
1 Aarrange _, -, -, - in the ascending order :
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2 What is the sum of all natural numbers between 1
and 100 which are multiple of 77

1 30T 100 % =1 Tt STHfas TIATAT T TIRT 14T g ST
7FHa?




' : SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES :

3A student was asked to find 5/16 of a number. By mistake
he found 5/6 of that of that number. His answer was 250
more than the correct answer. Find the given number.
TH STl TF F9< h 5/16 F7 94 A & forg sgr &
qT| AT & I ST 7A< FT 5/6 F7 AT MFrr @r g 1 Tl

SHT I Tal ST T 250 AT AT T ATEq (AP AT [T
Hiorl

(1) 300
BYEY
(4) 500
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4 03939 =7

(1) 15/33
(2) r1739]
(3) 17/39
(4) 13/33




1000 QUESTION SERIES

N 5 The HCF. and L.CM of two numbers are 44 and 264 respectively.
If the first number is divided by 2, the quotient is 44. the other
number s :

ST HETAT T Hogeq 3T AT 44 30T 264 g FAT:, TTx TIH H&IAT ¥ 2
g fAwTiora FT I TSI 44 WTH graT g aF g8 §E@rT 7 HiX ?

(1) 147

(2) 528

[(3) 130

(4) 265
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- 6 The smallest of V8 + v/5,V7 + vV6,V10 + V3 and V11 + /2
IS

a9 @IeT 31T L ?

(1) v8 ++/5

VARKERG
(3‘ml

(4) Vi1 ++2
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7 The average of 7 consecutive numbers is 20. The
largest of these numbers is :

g?alﬂm?r TSN T i Ea 20 81 T7H § 999 g8t §&dT
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In an army selection process, the ratio of selected to unselected
8candidates was 4 : 1. If 90 less had applied and 20 less were
selected, the ratio of selected to unselected candidates would have
been 5 : 1. How many candidates had applied for the process?
T 947 I3 IIFAT H, I AT FA=afaq SFHTE FT qara 4 : 1
a7 . JT< 90 FH AN o e fHAT AT 3T 20 FH IIfAq gid, AT
I ST =T SFET FTATA@ 5 : 1 | <rar, fhaw
SHEATA 7 Araa fhaT o1 TihaT?

(1[1650]

(2) 3300
(3) 825
(4) 4950
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TV
/ siha—cosa

9 Iftan0-=

_ then sina + cosa Is
siha+cosa

(1) vz tan@

(2) V2 COSI
(3) le sine
(4) — Cos6
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Each interior angle of a regular polygon is three times its exterior
1 angle, then the number of sides of the regular polygon is :

T IR T 1 TAF Aaia FIor @ g Sior § f i A e,
afRa agyer & vt T =1 R

(1) 9
(3) 10
4)7
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The perimeters of two similar triangle ABC and PQR are 36 cm and
1 24cm respectively. If PQ = 10 cm, then AB is
< g9 st ABC 3 PQR it aifer searsr: 36 9T siiw 24 9+t g1 i

1 Pa=103H ABR
(1) i5.cm |

(2) 12 cm
(3) 14 cm
(4) 26cm



1000 QUESTION SERIES

0 If/afk  x* + 2 = 23 then what is the value of AT

"_"“‘mj SSC CPO/CHSL/CGL TIER Il 2023
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(c)7




. ’__“‘m SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES

A2 If/ TIfT sec20+tan20 = 7/12, then find the value
of/ HTH ATd Y
sec*0 — tan+0 + 5/12

(a2 ]
(b) 1/2
(c) 5/12
(d) 1
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= Iff It sin 17° = x/y, then the value of
4 M AT Fsecl170-sin730=?

(@) =

(b) ==

xZ
(c) Y+ y2+x2

@ yVy2—x2
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@ |f/ gf< sece + tane = p, then the valuec
g [T FTq X
sine is :
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g7 rom the top of a pillar of height 20 m, the angles of elevation and depression of
the top and bottom of another pillar are 30° and 45° respectively. The height of
'3. 6 the second pillar (in meters) is:

T oo & ofid & et =€ 20 #1 8 vF T foee & ofid 9T st ax o= are
ST T AU FHI7 300 TUT 450 g FHHM:, AT TR AR Fr sAE qAma :X ?

(a )20(\/_+1)

(c) 10
(b) 10v/3
(d) \1/—; (V3+1)




97 The length and breadth of a rectangular field are 120 m and 80 m respectively.
Inside the field, a park of 12m width is made around the field. The area of the park
is:

TF MAATRIC A f¥ Fars i< FETs F9r: 120 W< six 80 e 31 {7 F ey, ==
% AU AT 12 HieX AVETE FT TE YT TAET AT g1 TTh FT SAHA &

(a) 3224 m?
(b)7344 m” |
(c) 2256 m? (d)
4224 m?
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A iron rod is in the form of a square enclosing an area of 22
cm?. If the same iron rod is bent into a circle, then find the
area of that circle?

TF Alg S 22 GHT [T F &F & AT a7 T & €T H gl gl
Ifx ST g T I FH T I | e AT ATAT 8, TV ST I FT
ST AT D2

(a) 24 cm?

fbf 26 cm?
P

(d) 30 cm?







